Show each stage of the working carefully.

. Change the subject of the formula to w:

(@) f=w+Tm
d) p=2w+r
(2 h=nw+3
() a=n+t'w
(m) r=3d-w
(p) g=1-3w

(s) r=m-=-2aw

(b) d=w-r’
() n=3w-g
(h) t=fw-r
(k) v =2aw-h
M) wu=r’-w
(@ y=4-nw

t) h=s-mnw

. Change the subject of the formula to t:

(@) h=xt

-2
@ s=—-

2t+3
5

() p=7(t-6)

(&) d=

(m) n=+st-2

(p) d=3t+n

t
() m=—+w
a

(b) f=3t

-5
(e g=12
n

(h) x=4t—k

&) u=2(t-3)
(n) e=3+¢t

(@ w=5-5t

o v="l3
n

. Change the subject of the formula to r:

(a) s=r’+t

d) w=gr’

-3

4

(8) p=
() u=xri-2
(m) b=3r"-5
(p) h=nr’-3

(s) x=(r-2)°

(b) m= -5
e g=3r
() x=r +4

(k) e=5r’+t
(m) c=4r-n
@ w=pri-m

(t) w= (r+n)2

TRANSPOSING FORMULAE

(c) s=w-061
(f) r=2+5w
(i) m=kw+r?
(1) e=rw+k
(0) h=at-w
(r) x=p-rw

(w) p=n-r’w

5t
(C) V=?
0 r=21
} 3t+r
G w= >

(1) c=t21+5)
(0) u=5t-w

(r) k=u-=+t
m)p=h—%t
) h=r"-t
M =27

a

r’—h

(i) v=—

M) k=3r’+m
(0) a=5r’+f
(r)y v =ar’+c

W t=(2r+¢)’



4. Change the subject of the formula to n:

(a) t=1/n—2 (b) h=Alr+n () w=\/n—at
(d) x=42-n () f=alc—n (f) g=+lab-n
(2) r=—\/3n +2 (h) p=—\/3n—d 6)) c=~/2n+f
) d=+an-3 (k) s=+an-c () e=—\/nt+u
(m) u=1/5—2n (n) k=1/w—3n (0) t=1/h—an
p) p=fn-5 (@ g=n-t (1) s=3-n
(s) h=x-afn ® y=vBn+7r (W) v=rt-mn
5. Change the subject of the formula to t:

(@) p=nt+2t () u=at-rt (c) c=r’t+2t
@ re 3t42rwt © e=at+3t ® v=r2t3—t
© S=2t+5 () m=a—3t 0 W=r -t

t t t
) wt+2 t+a 4n+t
() d= - k) g= Y @) s=

3t-2 -3 -
m) == 0 n=2 (0) p==2

6. Change the subject of the formula to that given in square brackets:

(@) v=u+at [a] ) vi=u'+2as [s] (c) s=ut+%ar’ [u]
d) P=mgh [g] (€) V=nr'h [h] ) K =zmv’ [m]
(@ A=nr’  [1] (h V=nr'h [r] () V="5murh [r]

G) V=4ar’  Ir] & v=A"-3 [ () p=nn’+2n’ [n]

(m) m=2xv7 [v] () d=,/$ (Al ©) Tﬂ”\ﬁ L]
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1. Q) w=f-Tm

@ w=21

. (@) t=3h
(d) t=3s+2

5d -3
(g) 1=

() t=4p+6

(m) t=3n+6

3d -3n
2

(p) 1=

(s) t=am-aw

(@) r=als-1
() r=qf6w
(@) r=+f4p+3
G) r=aBu+6

(m) r=

3

h+3

(p) r=

(s) r=al+2

ANSWERS

(b) w=d+r’

n+g

(e) w=

t+r
f
v+

h

(h) w=

k) w=

(n) w=r"-u

@ w=

®) t=xf
(e) t=ng+5

nx+k
h) t=
(h) 2

K) f=3u+3
(n) t=4e-12
(@ t=10-2w

nv+3n

(t) =

(h) r=4nx-4

k) r= 1I2e—2t

() r=

4
@ r= ,w+m
p

(1) r=W—n

(c) w=s+6¢
r—2
5

m-—r?

k
e—k
rt

(H w=

G w=

D w=

(0) w=at-h

m w=2"2
(u) W=n—2p
2v
(C) t=?
) t=nr+1
@ t=2w—r
3c-5
{ t= 3

(0) t=2u+2w
(r) t=3u-3k

W 12

1) r= -\ISV +h

kk—4m
A r= 3
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(c) n=w+at

() n=ab-g’

c2—f

(1) n= 7

e’ -u

D n=

h-t*

a

(0) n=

(ry n= (3— s)2

(w) n=

(1) n=

T+ 2

(o) L= g(ﬂ)



